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Answers 1o Selected Exercises All15
SECTION 8.5 (page 594) SECTION 8.6 (page 603)
Prerequisite Review Prerequisite Review
2 /3 V3 L.e 2. 30 40 .2 .1
1. -5 2. "i— 3. —%‘ 4. - = > 5.3 6
- = = - 7. = 8. 9, —2xsinx?
5 V3 6 _Q 7 —| 8. 0 10. 5 cos(5x — 1) 11. 4 sec(4x) tan(4x)
. 3 . 3 . .
: 12, 2x¢seci(x? — 2) 13. —4sin(2v + 3)
9, tanx 10. cotx 11. sin® x 12, cos® x (/2)
cos(x ,
13. 1 14. cos x 15. cscx 16. cos xsin x 14, - 2 15. 2 sec” v tan x
8y 1 17
17. % 8.5 194 20. 7 16. 2 csc? x cot x
1. —2cosx+ 3siny +C Jor+cesct+ C 1. Yes 3. No 5. Yes
5. —cotf ~sinfh+ C 7. —'gcoslr-FC 7
Tl ox —0.1 —0.01 -0.001 0

9. %sin.\'3+C 11. 2tun%+C

fv) | —035 | —0335 | —0.3335 | 2

13, —{infcos 3x} + C 15, Ttanty + C

X 0.001 0.01 0.1

t7. 1 In|sin mx| + C
. fly) ] —03332 | -0.332 | —0.32

19, finfese 2v = cot 24 + € 2L 3injtan 24 + C

e =1 1
23 Infsecx = 1| +C 25 —In[l + cosx| + C lim = -
-0 3y 3
7. tuniv+ € 29, —coset + C 9
A, e+ C RR %cos 4y + C * —0.1 —001 | —0.001 1 0
35, vsiny +cosy + C 37. vtany + Infcos | + C fle)y | 01997 | 0.2 0.2 ?
31V3 ~
39, T = 05 A3 - 1) = 146
30,57 =05 4L 1) =~ 14641 x| 0001 | 001 | 0.
134 45 Inlcos 0) — Infcos 1) = 0.6156 o2 o2 0"997J
700 49T 12=69348  5L2 83w dny 1
= lim =z
v—0 Sx 5

35, Trapezoidal Rule: 1.3655
Simpson’s Rule: 1.3708
Graphing utility: 1.3708

1.0 13 -1 15 -3 1. -1  19.%

2.0 23.-3 251 2.0 29.% 3LO
3.5 35 20391 4. -3 43
45.0 d47.0c  49.1 5.0 530 550

57. 0. s0 e* grows more rapidly than A2,

nits
e
N

Wl

37. (1) 225.28 million barrels
(by 225.28 million barrels

(¢) 217 miilion barrels

59, 0. so x grows more rapidly than (In.v)*.
39. 18.54 inches

pl. (a) C=99.17 (b) C = $3.14. savings = $6.03
63. 0.5093 liter 65. 0.9777 67. 3.8202

61. 0. so x” grows more rapidly than (In x)".

e

= [ .
39, True 71. False. j sin® 2x cos 2vdx = 5 sin® 2v + C
§)




